VYMHOXBTE JCCATHUYHBIC I[pO6I/I Ha OTpULATCIIbHBIC
CTCIICHH JCCATH.

REE

WUms: Jata: ___ Ouenka:___
3442,9 x 0.0001 = 2492, 1 x0.01 =
2106, 1 % 0.01 = 7066, 7 x 0.001 =
2936,2 x 0.001 = 6740,9 x 0.01 =
3876, 6 x 0.0001 = 7588,5 % 0.001 =
3027,1 x0.1 = 7590,7 % 0.1 =
3256, 6 x 0.0001 = 4177, 8 x 0.001 =
9470,7 % 0.01 = 4524,7 x 0.01 =
9543,5 % 0.0001 = 7052,2 x 0.001 =
7115,8 < 0.001 = 7351,6 x0.01 =
4726,2 % 0.01 = 6420, 9 x 0.001 =
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YMHOXKBTE IECITUYHbIE APOOH HA OTPUIATEIbHBIC
CTETIeHU JECSTH.

REEI

Pws: Jata: ____ Ouemka:
3442,9 x 0.0001 = 0.34429 2492, 1 x0.01 =24.921
2106, 1 x0.01 =21.061 7066,7 < 0.001 = 7.0667
2936,2 x 0.001 = 2.9362 6740,9 x 0.01 = 67.409
3876,6 % 0.0001 = 0.38766 7588,5 % 0.001 = 7.5885
3027,1x0.1 =302.71 7590,7 x 0.1 =759.07
3256, 6 x 0.0001 = 0.32566 4177,8 x 0.001 =4.1778
9470,7 x 0.01 =94.707 4524,7 x 0.01 = 45.247
9543, 5 x 0.0001 = 0.95435 7052,2 x0.001 =7.0522
7115,8 x 0.001 = 7.1158 7351,6 % 0.01 =73.516
4726,2 x 0.01 =47.262 6420,9 x 0.001 = 6.4209
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